[ Efficiency vs vertpos |
0.5 . . .
1" SR — TR S
0 SN R S —

Soas i S -

vs vertr

efficienc
TTTT

% SETTRRPN SRR R RRIE e
0.25F---eeeeedeneseeeens R o
0.2F---emees P P e

015— ------------ e I ............
0. AR ++ .
0.05F -+ Jr-i-- ot T SR
olueatthhy +++f=.+mrH........:

Ratio

H
1
J
Nb—c’»—
-
-
e
—
o
p—
d H
E
F
I
= o]
=

10 0?
TP vertr (cr%)

i lea ggn..n{vmu. +6p0evt
E ‘Eﬁegé %%igﬁ TEORSLTLIER 1000ewt

llll!{

~ 0.5
S 0.45¢

o F
= 04:—
Co 35F
é 0.3f
[©] o
0.25F
0.2F
0.15
0

0.05F
Q

Ratio

iy

=
[$2]
T T T T [ TT T TTTT

i -
10 20 30
TP vert z (cm)

|
w
o
| > 3
|
[N
o
o

[ Efficiency vs. sim PV z |
~0.05
> N R T

0 e S S S
£ : T
R S S

oot

oo it o
;,«_3)025 el fggfe b i g
0.02 TEEI
0.015 ! _____
0.01 e

0008+ ffes oo oo

=+

5 10 15 20
Sim. PV z (cm)



	Contents
	Page 1


